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6|/NsET 35 3.0 7 639 0 0 0 0 0 0
42|/)NiEET 0 0.0 0 0 0 0 0 0 0 0
13|82 HiRET 1 25| 10 470 0 0 0 0 0 0
A 50| FHT 3 15.7 1 24 0 0 0 0 0 0
STMEAKELER 1 2.1 8 943 0 0 1 100 0 0
86|\ rESREAYY 0 0.0 0 0 0 0 0 0 0 0
it 40 233] 26 2,076 0 0 1 100 0 0
3| E@ET 6 47 0 0 0 0 0 0 0 0
44| EET™ GhF#X) 0 0.0 0 0 0 0 0 0 0 0
Ean 67| LH™ (EFH#X) 0 0.0 0 0 0 0 0 0 0 0
53| ™ 1 44 17 0 0 0 0 0 0 0
&t 7 9.1 17 0 0 0 0 0 0 0
14|BaH 0 0.0 0 0 0 0 0 0 0 0
5|3 REA T 6 9.0 1 210 0 0 0 0 0 0
45| FHH 5 0.1 0 0 0 0 0 0 0 0
55| F B (R HX) 0 0.0 0 0 0 0 0 0 0 0
65| F B (ALK ) 0 0.0 0 0 0 0 0 0 0 0
17| T R ERET 1 75 1 90 0 0 0 0 0 0
58| =+ RET 0 0.0 0 0 0 0 0 0 0 0
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80| HATHEM 7 0.0 1 20 0 0 0 0 0 0
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&t 26 17.6 4 320 0 0 0 0 0 0
35[{FABH 13 9.2 2 77 0 0 0 0 0 0
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AR (RAHX) 10 6.6 3 1,492 0 0 1 200 0 0
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47|ARTH (HEHRX) 0 0.0 0 0 0 0 0 0 0 0
19| CRAX) 1 15.0 0 0 0 0 0 0 0 0
46|1E R 3 6.7 5 125 0 0 0 0| 654 13,080
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51| REEH (BRI HX) 0 0.0 2 0 0 0 0 0 0 0
B REFHFH (REEHK) 0 0.0 0 0 0 0 0 0 0 0
89| REFHH (EFR =M 5 12.0 0 0 0 0 0 0 0 0
32| Lz #t 0 0.0 0 0 0 0 0 0 0 0
&t 28 587 10 1,617 0 0 1 200 654 13,080
9| KETTH 0 0.0 2 0 0 0 0 0 0 0
22|;th AT 0 0.0 3 5,400 0 0 0 0 0 0
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26| F e 0 0.0 0 0 0 0 0 0 0 0
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RE | 87|& L%t 0 0.0 0 0 0 0 0 0 0 0
81|{Ei=HET 0 0.0 0 0 0 0 0 0 0 0
54| BRAHET (£ 2LHX) 1 8.0 0 0 0 0 0 0 0 0
75| SR AW ET (= K#X) 0 0.0 0 0 0 0 0 0 0 0
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